
Questions
• Are there discernible abnormalities in the subcortical morphometry of elderly
   people with HIV?
 
• Can the use of surface-based shape descriptors enhance classi�cation of HIV+
  brains beyond the use of volumetric measures?

Introduction
• Over 50% of HIV+ individuals show significant neurocognitive impairments.

• Basal ganglia, ventricular and white matter abnormalities are commonly 
 reported in HIV+ cohorts. 

• The extent of impairment is associated with subcortical structural atrophy. 

• The profile of HIV-associated brain abnormalities remains poorly understood.
 
• Development of sensitive biomarkers for HIV-related atrophy would aid 
 clinicians in determining which HIV patients will develop cognitive deficits.

Methods
Subjects
• 63 elderly HIV+ subjects: 65.35 years old, 4 women

• 31 uninfected controls: 64.68 years old, 2 women
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Results
Volumetric di�erences

Conclusions
• Using volumetric and shape-based descriptors we were able to characterize 
 abnormal subcortical morphometry in HIV. 

• Correctly predicted that more extreme clinical measures were associated with 
 more extreme subcortical atrophy. 

• Observed unexpected enlargement of pallidi in relationto certain clinical measures.

• Volumetric and shape descriptors uniquely characterized separate aspects of the
 HIV+ phenotype.  

• Classification was improved by shape descriptors in some cases.
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T-value maps of the subcortical surfaces modeling shape di�erences between HIV+ and control cohorts. First and third 
columns illustrate raw t-values from the main e�ect's coe�cient. Second and fourth columns show thresholded surfaces 
in which regions not signi�cantly di�erent following FDR correction are depicted in black.  


